=
=p

P24

H./\
;Ei/fi

fhze (R01)

TH4 | R1EL W AHEEGHR GTERERE) 5 IB=VE F HEX Sy TE B AERF - R
PG THE (4) THEX5 BRRAETH
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
BRRAETH
= 1
THRET
= 1
SRR RA U T
= 1
BEIN T b
t 9.
TeRis
= 1
— B C-54%E%
2R FHFREE~ R
m2 15
RO « AL IR F-11%2%5 %
2R FHFREE~ PR T e
m2 92
Tl TR
= 1
T E R
= 1
(TS5 RAEIR )
= 1
MR T
= 1

=N

pi




=
=p

P24

i fEae (AN01)

TH4 | R1EL W AHEEGHR GTERERE) 5 IB=VE F HEX Sy TE B AERF - R
PG THE (4) THEX5 BRRAETH
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

T s T
= 1
ik L
= 1
LBES
t 9.
TR T
= 1
PGS L
= 1
SOREURE T S ¢ SR A3k
& 2
HhRAL B
t 9.
ST FLEA T
& T 622
R VAR T
EN 538
VAN R VAR T
EN 484
/) =hrvh- T (3EK)
A 16
9 - 8




=
=p

P24

i fEae (AN01)

TH4 | R1EL W AHEEGHR GTERERE) 5 IB=VE F HEX Sy TE B AERF - R
PHETE (4) THEX5 BRRAETH
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

A U FE R T
m2 14
BUGRAE T F-11835%
AL R EAEER
m2 30
2/ )) =7 =T GEERR)

EN 16

BT
m 4

P s T
= 1

AR ALEE T
= 1

E R ) 20 ) - gk (JEfR)
m3 1
ALy R 20 ) = ik (HEfR)
m3 1
L& an

= 1

RGeS
= 1

Y

m2 113

=N

pi




=
=p

P24

i fEae (AN01)

TH4 | R1EL W AHEEGHR GTERERE) 5 IB=VE F HEX Sy TE B AERF - R
PG THE (4) THEX5 BRRAETH
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
AR BT
= 1
A E G B
A H 20
A E G B
AH 60
[EREMNEE ¢
= 1
B ER
= 1
B
= 1
Bl
= 1
BRAGIRA T
BmE - Fi&
m2 6.3
il (KL
= 1
S ¢
= 1
Bl E P
= 1

=N

pi




T EmRiEER (AR01)

TH4 | R1EL W AHEEGHR GTERERE) 5 IB=VE F HEX Sy TE B AERF - R
PG THE (4) THEX5 BRRAETH
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

(B3 5

= 1

T

= 1

— A B

= 1
TR

= 1
THEBIRE K Ol 5 1 e B

= 1
TH&EGF

= 1

=N

pi



